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1.Which funtion can be used to insert an empty entry? Choose the correct answer. 
A. copyvalue() 
B. exists() 
C. RemoveContexts() 
D. SplitByValueQ 
Answer: D 
 
2.What is the behavior of a pool in a business process model? Note: There are 2 correct answers to this 
question. 
A. A sequence flow can cross lanes within its pool. 
B. A pool acts as a container for the sequence flow between activities. 
C. Business processes can be modeled in several pools. 
D. A sequence flow can go outside the boundaries of a pool. 
Answer: A,B 
 
3.A function library must be located in the same software component version as the message mappings 
you want to use. 
Determine whether this statement is true or false. 
A. True 
B. False 
Answer: A 
 
4.Which of the following BPMN 2.0 elements belong to the Gateways? Choose the correct answers. 
A. Parallel Join 
B. Exclusive Choice 
C. Inclusive Choice 
Answer: A,B 
 
5.To be able to model a business process in SAP NWDS (Eclipse), you have to perform some preparation 
steps. 
Which are the possible sequences of these preparation steps? Note: There are 2 correct answers to this 
question. 
A. 1. Create a new process, using the wizard 
2. Define a pool 
3. Define the required lanes 
4. Call the process Development perspective 
B. 1. Create a new process, using the wizard 
2. Define the required lanes 
3. Define a pool 
4. Call the process Development perspective 
C. 1. Call the process Development perspective 
2. Create a new process, using the wizard 
3. Define a pool 
4. Define the required lanes 
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Answer: A,B 
 
 


